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END StrMESTER/ RETEST EXAMIN.ATION, 2T}20

(New Syllahus / OId Syllabus)

Semester: 3rd

Subject code: Sc 303

SuLrject: Mathematics-lII

Full iliarks: 70 (part A- 25 + Part B-45)

Duration: 3 hours

Oue,vtion,s on Prtrl A ttre corupuisor\;

PART-A

MARK-25
Question

no.
Questions Marks

Question
I

,y') ,, r'h,
l(a) Degree of ttrre equation ,4 +Y + 5-y = 0is

dx' dx
i i b) r-)rde'' of thc cquatiorr

l',121') (d'v'\' (,Jv't' )I---- I tr--+I+-l -"-I*Y-=X
[rt'r' ,) ,.dr' ) \.dx )

1{c) Solution of xalr+ ytly = Ois 

---.
i{d) Equations redircible to homogeneous form is _*_--.

1(e) H,r ord!nary ilifferential eqilati*n of,the 1't orcler and l"tdegree
63r; be expressed in the form __.

1x5:5

Question
2 2(a) What is the integratrng factor of linear equation?

2{b) \A&at is Bernoulli's Equatious?

2(c) What is the general solutron af v = px'r p'?

2{d) Wliat is Singular solution of equation y = px + p * pz 1

.Z(e) \ilhat is th,; fi:nn of Lllairaut"s equation'i

lx5=5

Questron
:l lVrite true or false

3{a)"Ihe qeneral differentiai ccluation of the form /ffi\,
i -E-.i
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p d'Y - r, d'' 'L - yr 'ln'' 
y -,, d; + t',ffi * ,'r;Jt +, . .+ P,,1' = Y'

3(b) Sol Solution ot (n' + 4D +4)y = Ois ! = Ae* + Be '

3(c) Complementarv function of (D' * 5D + 6b = "' surx is

{-r
3(el) Forinuia for Mcdian is 1+ Lf 

" i

Aez* + 8e3'

Question
4

Find True or F'alse

.1(a) Meciian a{ 32, 28, 3 i, 53. 20 
" 

33, 38, 56. 43 
" 

4A rs 33.

4(b) {JoefHcient of Quartrle Deviation ,r 
ffi

a(c) A bag contains 7 red and I black balls, the probability of drawing a red

7
Da,tl rs _-

i5

4(d) If trvo dice are thrr:rvn together, the requireC probability cf geitrng a total

a(e) [f E,amd Erare independent e,,,ents then

Iot/ls.-
0

lx5=5

Ques'lion
5

Choose the correct afiswsr;

(t o 2\tt
5(a)Aclsoinof|2 I 0jis

[3 2 t)
(t 4 -21 (r 2 3)

riri-z -5 4 | ,,'rlo , ,i
Ir -] t) [2 o t)
(t z 'l (1 ool

(iii)i4 -5 -ll (iv; l0 i 0l

[-24 r] [oo1)
5(b) 2"'r order idcntrtv matnx is

lx5-5
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5(c) Charactcristic roots of 
| 

0

Io
(i)1,3, -2 (ii) i, 1,5

5(d) (4,0) is a solutron of
ii12x-y <1

lii)x + y>6
(iii)x+y>4
{lr,,1''* Y > 4

5ie) (1,6) is a solution of,
tilx* jt <1

(ii')2x *3y > 6

(llf)x+y>8
(iv)3x+y>9

ra\4-l
3 2 lare
0 -2)

(iii) 1, 2, -3 (iv) -3,2, -Z

{Part B)

Answer any five questions

Questron
no.

Questions marks

QUESTI
oli 6

l+J+-3=,9

6a
Hvaluate **a$*urr" z:r' + y'hc by

blr
tf u = Z * Z+Iprove ttut r! + yy * rfu = a.zxydxdydz

6c Form differential equatiorl. -y, - Aez" + lJe'*

Question
no.7

Sotrve: 3+3+3=9

!a
{.tr + x'))r$ -* :ryttlv = {3

7b x* 2e"'py-rfu*xsin.r}, = o
7c y = -px+ xa p2

Qucstion
no. 8

3+3-+-3=q

8a Solve:

dv
V-^--r"dx

, '](ty 
\.-:-" 
i

,-lx )

8b Solvc:

tl'v ^ r-

dj'

;i'* /
i:q I
\r'b \

3 W
j'



8c dv x+ r'+l
Solve: -:- = ------:--dx 2x +2v *3

Question
9

3+3+3=9

9a A resistance of i 00 oirm,q. ari inductance of 0.5 henry are coilnocted in series

rvith a bat[er,,, of 20 V*lts. Find the current in the circuit as a fi.rnctiorr of iinr.*.

9il Find thc M*an clcviation liorn Median f,rom the follorving data
90" 100. i25. ll5. I l{).

9c Find the lVk:rle oi' thc follor,ving fiequ ency distributi orw :

t0-20 20-30 30-40 40-50
O A\J IU J

Class iuterval . 0-10
D--.^,,^,.,-., 1t ruLlrr!{Iuy I

Questron
ln

3+3-1-3=9

l0a Find the Standarcl Deviation (SD) of thc follorving data

Ctrass: 0-6 6-12 12-18 18-24 24-30

Freiluenc-1,: I 10 i2 9 5

i0b (i) Ten studen!.s gct the follou,ing percentage of r.rarks in Fhysics and

Mathernatics:

FIr--v . 72 42 9q 32 76 85 g{-l 60 67 43

Maths. 82 50 9[ 54 68 60 ftO 55 53 4"1

C;rlculate th e coefflcient of, correlation.

{ii) From a pack of cards t-*o carcls are Craun at random. Find iire probabiiitl,
that thcy are rrd cards

Question
it

3+3-r3:9

lia tf) Dr:ar,v the graph ofy - Sirut, * 7t < x < ?i

{ii} Solve graphiaailv: -\inZx = Cosx, 0 <x <900
rlb (t 1Ir

I

Show rh*r A =l Z I
I

\t )\-
A2 *4A-51= o.

2\
.I
2 

lsatisfies 
the mati'ix equation

t)

Question
T2

ii)

(1 i)

Solrre the Sirnultirneous linear equation
x*!*z=6
x+2y +32 = l0
x*2y+42=7

&{aximisc. z = *3x -t 4.t-

.x+2/s8,
Sub".lected to 3x -r 2.y 112,

-r)0,y)()

5+4=9

,t* r. * *)t * rr * a * ** * r( * )F * * * :F )i<.*

)1


